Week 6
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M x4 =

1x6=

MN=9=

9x12-=

T=12=

2 x4 =

6x7=

3=x9=

12 x 6=

8x3-=

7 =10 =

1 16+ 4=
2 60+ 6=
3 9+9=
4 |108 +12 =
5 33+3-=
] 49 + 7 =
7 | 2b+ 4=
8 12+6=
9 271+9=
10 | 9612 =
" 21+3=
12 | B4+ 1=




Arithmetic

w| 5
e | =

22 805
+41 537

479999 + 1000 + 1000 =

4=110=

9999 + 20 =

7+ 3006 = 9010

21987 + 2235 =




JEl+6=

50 = 70=

105 000 + 326 000 =

66 782
— 36 805

5500 =50 =




2688 +8 =

750000 - 60 000 =

_:E.=

37
x 76

12+ F + =




f38+6=

456102 - 67 085 =

1642

2992 -3083=
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